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Year 10 Topic Test Circle Geometry & Furher Algebra |

1. Flnd the valus of the pronumerat In the following giving reasons.
o :

AR is a fangent to the circle.




2. PQRSis a cyclic guadrilateral. Side PQ has been pmduced to T'so that PTRS Isa parallelogllam. Prove thatl
RAT is an isosceles triangle, '
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3. Solve the following equations simultaneously
y=x2-3x+4
y—x=1
4. Solve the followlng literal equations for x
a. atx=7
ax+b
ny =13
c
/ :
7/
.
¢ — =
x+2

5. Find a new expression for x* + 2xifxis replaced with a -+ 2.
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6. Inthese formulae, what values can x take?
a. y=x+7

h.y:J;

¢ ¥y=yx—7
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1. Find the valug of the pronumeral in the following giving reasons.
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AB is a tangent to the circle.
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2. PQRSis a cyclic quadrilateral. Side PQ has been produce& to Tso that PTRS is a parallelogram. Prove that

ROT s an isosceles triangle.
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3. Solve the following equations simultaneoursty
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4. Solve the following literal equations for x

a atx=7
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5. Find a new expression for x% + 2x if x is replaced with a + 2.
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6. In these formulae, what values can x take?
a y=x+7
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